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24 99.4 99.4 99.4 99.4 99.0 99.1 98.9 97.7
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2 103.3 102.9 104.1 103.6 105.5 114. 4 100.7 107.3
3 103.8 103. 4 104.6 104.2 105.3 113.1 100.7 107.2
4 103.8 103. 4 104.6 104.2 105.8 114.7 100.7 107.2
5 104.0 103.6 104.8 104. 4 105.7 114. 4 100.7 107.2
6 103.8 103.7 104.7 104.6 105.0 106.5 100.7 107.2
7 103.8 103.7 104.7 104.6 105.0 106. 3 100.7 107.3
8 103. 4 103. 4 104.2 104.2 105.1 104. 4 100.7 107.3
9 103.9 103.5 104.7 104. 4 106. 1 112.0 100. 8 107.3
10 103.7 103. 4 104.5 104.3 106. 4 110.0 100.5 106. 1
11 103.3 103.3 104.1 104.1 105.5 103.8 100.5 106. 1
12 103.1 103.0 103.9 103.7 106. 3 106.5 100.5 106. 1




m 1 0 X ZEB ¥ %

ER22F=100
2010&%=100

JeEh xE AR &
RV | REER . BE |(EERE | #ME # A

KE |RERR| BY BiE

704 345 405 428 1421 334 1145 569 7T Ak
100. 2 103.4 104.3 99.3 98.7 111.4 102.1 98.9 [ 2009 & Fiy
100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 | 2010
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121.9 92.3 106.9 99.7 106.0 101.6 97.9 108. 1 11
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121.1 95.2 104.5 100. 4 103.6 103.3 96.5 108. 1 4
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A 1 0.6 0.4 0.6 0.4 1.9 5.2 1.9 8.1

b 8 0.1 0.1 0.1 0.1 1.9 1.3 1.9 8.1
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® B R U B B 102.2 0.4 4.0 102. 6 106. 5 102.0 101.9
& # 92.9 2.6 -10. 4 95. 4 103.6 97.1 96. 4
0 R 98.2 0.0 4.9 98.2 93.6 95.5 92.3
3 R 92.7 -2.7 -10.8 95.3 104.0 97.1 96.5
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# o w®m R & 123.1 0.5 7.6 122.5 114.5 113.8 113.7
W OB B OE Y — E R 100. 6 0.0 0.0 100. 6 100. 6 100. 6 100. 6
#® &’ E = 100. 7 0.3 1.1 101.0 99.6 100. 6 99.8
EXES - -REAEAERS 96.5 0.9 0.2 97.4 96.3 97.6 97.0
RRrRERAS - B8 104. 8 -0.3 3.3 105. 0 101.4 103.3 102. 1
B R E®RY — E 2 101.8 0.0 0.8 101.8 101.0 101.5 100. 8
% & & = 101.6 0.9 -3.8 102. 6 105. 7 103.5 105. 9
% & 109. 7 0.6 0.0 109. 0 109. 7 109. 6 107.0
B B = %X B & B 101. 1 1.4 5.7 102. 5 107. 2 103.9 107.9
& S 99.5 0.0 1.1 99.5 98. 4 98.9 98.5
% = 103.3 0.0 1.7 103.3 101. 6 102.9 100. 8
B % # = 100. 1 0.0 1.3 100. 1 98.8 99.8 97.9
%R E T s EHH 109.9 0.0 1.4 109.9 108. 4 109. 5 108.0
B = # & 106.7 0.0 2.1 106. 7 104.5 106. 2 103.9
% %* be % 98.6 1.7 0.0 100. 2 98.6 08.7 96.8
% % 1|8 % B W R B 74.0 -8.2 7.1 80. 6 69. 1 72.6 69. 4
% & M O ®2 A & 101.4 1.4 2.6 100. 0 104. 2 100.9 99. 4
£ B oo MR W 105. 0 0.0 0.8 105. 0 104. 2 104.7 103. 4
H % 1| OE Y — E R 103.8 1.5 -0.7 105. 4 104. 6 104.7 103.0
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2 £ % B & 98.7 1.6 0.3 100. 3 98. 4 99.9 98.6
g5 o B Y B & 113.4 -0. 1 -0. 1 113.5 113.5 113.3 109.5
1= s = 131.6 0.0 0.1 131.6 131.6 131.6 130.3
e o ® B B 111.5 0.0 1.0 111.5 112.7 111.8 112.6
(B138)

T * v £ — 107.9 2.0 -13.4 110. 1 124.6 115.9 126.0
# i 5 % & 103.8 0.7 2.4 103. 1 101.4 102.7 100. 8
% & &= £ B % B 98. 6 1.6 -0.3 100. 2 98.9 98.9 97.1
F ® & £ B & = 100. 7 0.0 0.1 100. 7 100. 6 100. 6 100. 4




